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Relationenmodell

Adresse
Standort
Angestellter
Manager
Kunde
Artikel
serie

Land

Preis
Bestellung

umfasst

(aid, plz, ort, strasse, nummer)

(sid, bezeichnung, adresse:Adresse.aid,

(svnr, nname, vname,

leiter:Angestellter.svnr)

gebdat, gehalt, adresse:Adresse.aid, arbeitet:Standort.sid)

(svnr:Angestellter.svnr, bonus)

(knr, nname, vname,

(

(D

(vorgaenger:Artikel.

adresse:Adresse.aid)

an, bezeichnung, typ)

ean, nachfolger:Artikel.

(code, name, kontinent)

(datum, artikel:Artikel.ean, land:Land.code,

ean)

wert, steuer)

(bid, zeitpunkt, bezahlt, datum, knr:Kunde.knr)

(bid:Bestellung.bid,

artikel:Preis.artikel,

land:Preis.land, datum:Preis.datum,

anzahl)



